DANCOVER®

Manual
for
Arched Cover f/Raised Garden Bed
0,75x1,5x0,45m

21-04-2021



COVER FOR RAISED GARDEN BED

NOTE: The lower bed is supplied separately, in the photo only an application example.

No. Parts list Pcs
1. Side parts 783 mm 4
2. Front part 730 mm 2
3. Arches 1230 mm 3
4. Reinforcements between the arches 688 mm 2
5. Corners for connecting the rear and side parts with 4 holes 40x40 mm 4
6. Rear and side reinforcements (folded ends) 4
7. Hinges 50x40 mm 2
8. Corners for polycarbonate mounting 40x30 mm 4
9. M5x16 mm screws 64
10. M5x40 mm screws 25

11. MS nuts 93

12. Gaskets plastic, transparent 27

13. Tape for sealing sheet ends 3m
14. PC cover ends 2

15. Cover for covering 1400x1610 mm 1

16. Handle 1

NOTE: Use protective gloves to assemble the structure!

1




Installation instruction

1. Arrange the parts as shown in the figure. 783 mm long parts on the sides (1) and 730 mm long parts on the
ends (2).

2. Join the corner parts of the structure (1; 2) with the corners for connecting the rear and side
parts (5). Use M5x16 mm bolts (9) withnuts (11). Do the same for all 4 corners.

3. At the joints of the side parts (1), turn only 2 lower M5x16 mm (9) lower bolts
with nuts (11). Leave the upper holes free. Do the same on both sides.

4. Fasten the rear and side parts using reinforcements (bent ends) (6) and M5x16 mm
screws (9) and M5 nuts (11). Do the same for all 4 corners.

5. Fasten the arches to the already assembled structure
using M5x16 mm screws (9) and M5 nuts (11). A total
of 3 arches (3) are fastened: 1 at the ends and 1 in the
middle.

6. Fasten the fastenings between the arches (4) with screws M5x16 mm (9) and nuts (11) (2 pcs.).



7.  Fasten the corners (8) for fixing the polycarbonate to the rear arches with M5x16
mm screws (9) and M5 nuts (11).

8.  Fasten the hinges to one of the side parts (1) with M5x16 mm bolts (9) and nuts (11).

9. Tighten the structure using a screwdriver and 8 mm head.

10.  place the assembled bed cover on an existing metal bed. Make sure the
cover is in place. Mark the holes for drilling holes in the bed. Using a 6 mm
metal drill (drill not included), drill 4 holes to attach the cover to the structure.
Screw the cover to the structure with M5x16 mm screws (9) with nuts (11)
through the hinges.

11. Fasten the polycarbonate sheets (14) with M5x40 mm screws (10)
with transparent spacers (11) and nuts (11) at the bottom and
M5x16 mm screws (9) with transparent spacers (12) and nuts (11)
through the corners. Do the same on both sides. Important: Peel off
the protective polycarbonate films before placing the sheet on the
structure. Do not mix polycarbonate sides. The UV-resistant side
must face outwards. This is indicated by the marked film.

[ | 'J"I i I“‘“
I':fhy'i'.nllﬂil: Jid .-u.u'-l i

I
{
LT



12. Use a sharp knife to trim the protruding polycarbonate sheets (14) to the structure.

13. Cover the structure with a transparent tarpaulin (15). Level so that the entire
structure is evenly covered. The awning is attached to the structure with M5x40
mm screws (10) with M5 gaskets (11) and nuts (12). The edges of the sheet must
engage on the sides behind the polycarbonate sheets.

14. Seal the edges of the polycarbonate with the added aluminum strip (13).

15. Fasten the handle (16) using M5x40 mm bolts (10) and M5 nuts (11).



mailto:info@meistrokodas.lt
mailto:vilnius@meistrokodas.lt
http://www.meistrokodas.lt/
http://www.baumera.lt/

DANCOVER®

Contact information

Head office:
Dancover A/S

Lyngevej 16A, Ngrre Herlev

3400 Hillerad
Denmark

For more information
please visit:
www.dancovershop.com

National contact

Denmark:
denmark@dancover.com

UK:
uk@dancover.com

Germany:
germany@dancover.com

France:
france@dancover.com

Sweden:
sverige@dancover.com

Finland:
suomi@dancover.com

Poland:
polska@dancover.com

Luxembourg:
luxembourg@dancover.com

Portugal:
portugal@dancover.com

Spain:
espana@dancover.com

ltaly:
italia@dancover.com

Switzerland:
schweiz@dancover.com

Austria:
austria@dancover.com

Norway:
norge@dancover.com

Nederland:
nederland@dancover.com

Ireland:
ireland@dancover.com

Belgium:
belgique@dancover.com




